
ω> | ô� = ω>O

1
| ô�: ω>O

−| ô�:
∑
} 6= 0

ω>} | ô�

= ω>O | ô�:
∑

1 6 i < j 6 r

ω>κ

j − i
| ô�:

∑
0 6 i 6 j 6 r

ω>κ

j + i
| ô�

ω>O

−| ô� = R
e

k
− ze∗

k
z

X Z

∂z

1 6 k 6 r

}−→ R

ω>O

1
| ô� =

δ � 8 (X)

e
k
δ = 0

ω>κ

j − i
| ô� =

X
−
a + 2κ ∗ae

j
− ∗e

j
a

Y [

a = ∗a � i�
j

: 0 < i < j

∗a e
j
− ∗e

j
a = ∗e

i
a− ∗a e

i
=

∗
e

i
− e

j
Y [

a = ∗a e
j
− e

i
Y [

ω>κ

j + i
| ô� =

X
−
a + 2κ ∗ae

j
− ∗e

j
a

Y [

a = −∗a � i�
j

: i < j

∗a e
j
− ∗e

j
a = ∗a e

i
− ∗e

i
a = ∗a e

j
+ e

i
Y [

= − ∗
e

j
+ e

i
Y [

a = ∗ae = − ∗ea

ω>κ

2j
| ô� =

X
−
a + κ ∗ae

j
− ∗e

j
a

Y [

a = −∗a � j�
j

∗a e
j
− ∗e

j
a = 2 ∗a e

j
= −2 ∗e

j
a = 2 ∗ae = −2 ∗ea



ω>κ

j
| ô� =

X
−
a + 2κ ∗ae

j
− ∗e

j
a

Y [

a � 0�
j

: 0 = i < j

∗a e
j
− ∗e

j
a = ∗ae− ∗ea

ω>} | ô� =
b � ω>|ô�

b ; e
k
− ∗e

k
Y [

= e
k
− ∗e

k
Y [

}
X Z

b

ω>κ

j − εi
| ô� = ω>κ δj − εδi

Y [ | ô� =

X
−
a + εi]j ∗ae

j
− ∗e

j
a

Y [

a � i�
j
: ∗a = εi

: ε = 1:0:− 1

e
k
− ∗e

k
Y [

} = κ ∂
j

k
− εδ

i

k
Y [

X
−
a ; X

−
b

= 2 ∗ab−
∗
ba

Y [

X
−
a ;

∗
bc− ∗cb
Y [

= X
−

a
∗
bc− a∗cb

Y [

X
−
a + εi]j ∗ae

j
− ∗e

j
a

Y [

X Z

; X
−
ek

= 2 ∗ae
k
− ∗e

k
a

Y [

+ εi]j X
−
ek
∗eja− ek

∗aej
Y [

1 6 i < j 6 r � RHS = 2 δ
i

k
∗ae

i
− ∗e

i
a

Y [

+ δ
j

k
∗ae

j
− ∗e

j
a

Y [

X Z

+ 2κ X
−

δ
j
kej

∗eja− δ
i
kei

∗eia
Y [

=

2 δ
i

k
∗e
j
∗a− ∗a∗e

j
Y [

+ δ
j

k
∗ae

j
− ∗e

j
a

Y [

X Z

+ κ X
−

δ
j
ka− δ

i
k
∗a

Y [

= κ ∂
j

k
− εδ

i

k
Y [

X
−
a + 2κ ∗ae

j
− ∗e

j
a

Y [

X Z

1 6 i = j 6 r � RHS = 2δ
j

k
∗ae

j
− ∗e

j
a

Y [

+ κ X
−

δ
j
kej

∗eja− δ
j
kej

∗aej
Y [

=

2δ
j

k
∗ae

j
− ∗e

j
a

Y [

+ κ δ
j

k
X

−
a− ∗a
Y [

= 2κ δ
j

k
X

−
a + κ ∗ae

j
− ∗e

j
a

Y [

X Z

0 = i < j � RHS = 2δ
j

k
∗ae

j
− ∗e

j
a

Y [

+ 2κ X
−

δ
j
kej

∗eja
Y [

= 2δ
j

k
∗ae

j
− ∗e

j
a

Y [

+ κ δ
j

k
X

−
a = κ δ

j

k
X

−
a + 2κ ∗ae

j
− ∗e

j
a

Y [

X Z

ω> | >� = ω>O

1
| >�: ω>O

−| >�:
∑
} 6= 0

ω>} | >�

= ω>O | >�:
∑

1 6 i < j 6 r

ω>κ

j − i
| >�:

∑
0 6 i 6 j 6 r

ω>κ

j + i
| >�



ω>O

−| >� =< 2z e∗
k
e� lz

6
|k 6 r >

}−→ R

ω>O

1
| >� =

δ � 8 (X)

e
k
δ = 0

ω>1

j − i
| >� =

(
z ∗ae

j

)
∂z =

(
z∗e

i
a
)
∂z

a = ∗a � i�
j

: 0 < i < j

ω>−j − i
| >� =

(
z ∗ae

i

)
∂z =

(
z∗e

j
a
)

∂z

a = ∗a � i�
j

: 0 < i < j

ω>1

j + i
| >� =

a∂z

a = −∗a � i�
j

: i 6 j

ω>−j + i
| >� =

z ∗az∂z

a = −∗a � i�
j

: i 6 j

ω>1

j
| >� =

(
b + 2z

∗
be
)

∂z

b � 0�
j

: 0 = i < j

ω>−j | >� =

(
z
∗
bz + 2z∗eb

)
∂z

b � 0�
j

: 0 = i < j

ω>} | >� =
b � ω>| >�

2b ;
(∗e

k
e

k

)
=
(
2∗e

k
e

k

)
}

X Z

b

ω>κ

j − i
| >� = ω>κ δj − δi

Y [ | >�

2
(∗e

k
e

k

)
} = κ δ

j

k
− δ

i

k
Y [

a � m�n

1 6 m 6= n 6 r �
(∗aen

)
;
(
2∗e

k
e

k

)
= 2 ∗a

(
en

∗e
k
e

k

)
− 2

∗(
e

k
∗e
k
a
)

en = 2δ
n

k
∗a en −

(
δ

m

k
+ δ

n

k

)
∗a en =

(
δ

n

k
− δ

m

k

)
∗a en

ω>κ

j + i
| >� = ω>κ δj + δi

Y [ | >�

2
(∗e

k
e

k

)
} = κ δ

j

k
+ δ

i

k
Y [



a ;
(
2z∗e

k
e

k

)
= 2a ∗e

k
e

k
= δ

j

k
+ δ

i

k
Y [

a(
2z∗e

k
e

k

)
;
(
z ∗az
)

= 4
(
z∗e

k
e

k

) ∗az − 2
(
z ∗az
) ∗e

k
e

k
= 2z

∗(
e

k
∗e
k
a
)
z = δ

j

k
+ δ

i

k
Y [

z < ∗az

ω>κ

j
| >� = ω>κδj

| >�

2
(∗e

k
e

k

)
} = κ δ

j

k(
b + 2

∗
be
)

∗ekek

; = 2b ;
(∗e

k
e

k

)
+ 4

(∗
be
)
;
(∗e

k
e

k

)
= 2b ∗e

k
e

k
+ 4

(∗
b
(
e∗e

k
e

k

)
−

∗(
e

k
∗e
k
b
)
e
)

= δ
j

k
b + 4

(∗
bδ

j

k
e

j
− δ

j

k

∗
be/2

)
= δ

j

k

(
b + 2

∗
be
)

2
(
z∗e

k
e

k

)
;
(
z
∗
bz + 2z∗eb

)
= 4

(
z∗e

k
e

k

) ∗
bz − 2

(
z
∗
bz
)

∗e
k
e

k
+ 4

(∗e
k
e

k

)
;
(∗eb) =

2z
∗(

e
k
∗e
k
b
)
z + 4

(
∗e
k

(
e

k
∗eb
)
−

∗(
e
∗
be

k

)
e

k

)
= δ

j

k
z
∗
bz + 4δ

j

k
∗e
k
b/2 = δ

j

k

(
z
∗
bz + 2z∗eb

)
(
2∗e

k
e

k

)
G
L
(
2∗e

`
e

`

)
= 4pδ

k:l

tr DG

(
2∗e

k
e

k

)
DG

(
2∗e

`
e

`

)
=
∑
i < j

(
δ

j

k
− δ

i

k

)
a

(
δ

j

`
− δ

i

`

)
+
∑
i < j

(
δ

j

k
+ δ

i

k

)
a

(
δ

j

`
+ δ

i

`

)
+
∑

j

2δ
j

k
2δ

j

`
2 +

∑
j

δ
j

k
δ

j

`
4b = 4a

∑
i < j

(
δ

j

k
δ

j

`
+ δ

i

k
δ

i

`

)
+ 4

∑
j

δ
j

k
δ

j

`
(2 + b) =

4a
∑

i < j

(
δ

j

k
+ δ

i

k

)
+ 4

∑
j

δ
j

k
(2 + b) = 4a

( ∑
k < j

1 +
∑

i < k

1 + 4 (2 + b)

)
= 4 (a (r − 1) + 2 + b) = 4p k = `

0 k 6= `

M
]

e1

prim pos roots


M

]
e2
−M

]
e1

2
···

M
]
er
M

]
er − 1

2
b = 0

M
]
e1

2
:
M

]
e2
−M

]
e1

2
···

M
]
er
M

]
er − 1

2
b > 0


